TRE29F4R1BERE BLImEREXRSIRAORUVHEE

k2910 1HERE BETERERSIIEAORUHE

iz % Bt =i AQ & | tHER Hig 2, B A0 =i A0 N = HEH

J\iEHhis 6,662 7,190 13,852 5415 2 |RAEAN £4F (RAEA| & |RH4EA| 2& |RHIEA
R F0 3t gk 3,299 3,475 6,774 2,176 J\iE Hhig 6,654 55 7,144 73 13,798 128 5,437 98
B &b 5,566 5814 11,380 3,925 R F0 3 gk 3,317 20 3,458 12 6,775 32 2,191 32
= B i 1,559 1,624 3,183 1,121 B R ibig 5,586 58 5,808 60 11,394 118 3,943 108
Kl i 2,042 2,123 4,165 1,375 = i 1,548 25 1,604 21 3,152 46 1,120 45
B E i 837 903 1,740 565 35 i i 2,035 27 2,106 30 4,141 57 1,380 42
B g 859 934 1,793 699 BA = Hhig} 836 0 892 5 1,728 5 566 5
MLEFEHE 20,824 22,063 42,887 15,276 1B Hhig 850 12 927 37 1,777 49 707 47
BLEFEE 20,826 197 21,939 238 42,765 435 15,344 377
¥R (RTA LL) A 23 A4 A 36 A5 A 59 A9 A 12 A8

KEREXRBRAQZSABEAEREZED,

B =i IN= HER
P SHEA (T2 4) 172 248 420 354 E2910A1BBE BLETERERSIEBADORUHEHTE(BRADH)

iz 4 B x| A0 B | HEH
J\iEHhigg 6,599 7,071 13,670 5,339
K03t g 3,297 3,446 6,743 2,159
B 5 #hig 5,528 5,748 11,276 3,835
=R 1,523 1,583 3,106 1,075
5 i #h J5f 2,008 2,076 4084 | 1338
BA = Hhigk 836 887 1,723 561
B g 838 890 1,728 660
B EHLAE 20,629 | 21,701 42,330 | 14,967
¥ (RTA LE) A 19 A 31 A 50 A 4




